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Student #:
Two (3189 cone & 3120 cup) tapered- ¥l
roller bearings were selected to support - V
the shaft at 4 and B using direct- 2 '
mounting. The shaft rotates at /200 rpm
and the bearing loads are as shown in the
tigure (loads are in kN).
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b) Find the expected life (in hours) at standard reliability for the bearing used a
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c¢) If the life goal is 800 h, find the reliability that the bearing used at 4 will live the

required life.
; Xp= S0041200%60 _ 0. L,
90 %104

L5

/4 0-59 0 05

Ro - | Xelca "“ "J o nzj.g

%@aQLZS €925




